
    –   

Let’s look at the following system: 
3𝑡 + 4𝑓 = 43
3𝑡 + 6𝑓 = 54

                          
                         
                    

    


3𝑡 + 4𝑓 = 43
3𝑡 + 6𝑓 = 54

                   

           

        



         

    

2𝑥 + 3𝑦 = 42.50
5𝑥 + 6𝑦 = 94.25

    

{2𝑏 + 4𝑡 = 18.50
2𝑏 − 3𝑡 = 1.00



Let’s look at a                    


                     
                 
       

   

   



              

                         
               

    

 
2𝑦 = 𝑥 + 2
− 


𝑥 + 𝑦 = 1   𝑦 = 𝑥 − 1

−𝑥 + 𝑦 = 4

                   
    

 3𝑥 − 4𝑦 = 13  0.5𝑥 − 𝑦 = 30  3𝑥 − 3𝑦 = 3
𝑦 = −3𝑥 − 7 0.5𝑥 − 𝑦 = −30 𝑥 − 𝑦 = 1

                  

 𝑦 ≤ 3𝑥 − 5
𝑦 ≥ 𝑥 + 2         


